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1. RORZHNBOMREX. (S5, AS14740%, B34y, CHdsr40% )

(1) a®—0p? (2)  z2+624+9
(3) ab+a+b+1 (4)  2*-1
(5) 33 — 1822 + 362 — 24 (6) ab—1b% —2a+4b—4
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2. RXROAXZENHE BT X. (SH1510%, A2, B3T3 308, C#Hs5930%)

(1) z2-1 (2) 22 —20z + 100
(3) ab—a—b+1 (4) 8a3 + 27h3
(5) 1623 + 2422 4+ 122 + 2 6) —a?+ab+4a—-0-3
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ROX %2 KB L. (S5, Afk1340%, B#k345r, C#k4457 408 )

a? —bv?

= (a+b)(a—-0b)

ab+a+b+1

—ab+1)+1(b+1)
=alb+1)+1(b+1)
=(a+1)(b+1)

YN E LTHATH LWL,

3x3 — 1822 + 36x — 24

= 3(23 — 622 + 122 — 8)
=3(x — 2)3

R FAE
A3 —3A°B+3AB? — B* = (A- B)?

Yo 23 — 622 + 122 — 8

BB DOHRHEIZIEIC 1,6,12,8

BHAT 2 ODIHDFEEE 3 cHl5 L 1,2,4,8
25T O T DT (z—2)% DFICTE .

22 +6x+9

= (x + 3)2

:.’B3—13
=(x—1)(z>+x+1)

* A

A3 — B3 =(A- B)(A? + AB + B?)

el &

RBORIZEZ D% Z B L T3 CHE»D X 9.
D3 & U E 4 TR U X v,

Bl . 2?2 DI,
rxax+(-1)x22=0 < OK

ab—5b%—2a+4b—4

—ab—2a— b +4b—4 HKERDaTEED?

= ab—2a — (b — 4b+4)

=a(b—2)— (b—2)?

—aA— A2 —A=b-2 LBV,

= A(a — A)

=(b-2){a-(b-2)}

=(b-2)(a-b+2)

FARI L D 7 CHE

H5RZ a &1 XAT, b D2k REDME ST DL
FOHREZDOHICE LD L, WETHLP TV, X

LaTELDTH XFERDTSENT O 2. THELC
L3 THBEXFTEETS, L.
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ROXERBHE L. (SH1310%, A2, B#35308, C#H55 308 )

(1) z? -1

— (@ +1)(@—1)

3) ab—a—b+1

—alb—1)—1(b—1)
—(a—1)(b—1)

YA ELTHATHLWIE.

(5) 1623+ 2422+ 122+ 2

=2(82% + 1222 + 6z + 1)
=2(2z +1)3

* A
A3 +3A°B+3AB? + B> = (A+ B)?

Y 823 + 1222 + 62 + 1
RBDHHEIXNE IS 8,12,6,1
BHAH 2 DODHDIRE % 3 THIS & 8,4,2,1

2 — 20z + 100

= (z — 10)2

8a® + 273

= (2a)® + (30)*
= (2a + 3b) {(2a)? — 2a x 3b+ (3b)?}
= (2a + 3b)(4a? — 6ab + 9b?)

R AN

A%+ B = (A+ B)(A? — AB + B?)

Yl s &

KB RIZEZ DT % ZEHL TT PO X 9.
R DY H X e TR UL L o,

. a?b DIEIZ,
2a X (—6ab) +3b x 4a®> =0 < OK

—a?+ab+4a—-b—3

=ab—b—a’+4a—-3 <KERXRDbTELEDS
=ab—b— (a® —4a+3)

=bla—1)— (a—1)(a—3)

=bA—Ala—3) < A=a—-1L,tEBWwL.

=A{b—(a—3)}

HEFTOW> TR DT (204 1) DIBIZTES. =(a—1)(b—a+3)

FAZTELD S5 TREHL

53Rz a D2RXRT, b D 1R REDPMELTFOXFET
BEREDIEICE ED D &, RS LPT .
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